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1: #include <stdio.h>
2:
3: main(){
4: double a[4][4]={{8,16,24,32},{2,7,12,17},{6,17,32,59},{7,22,46,105}};
5: double b[4]={160,70,198,291}, x[4], y[4], tmp;
6: int n=4, i, j, k;
7:
8: for(i=0;i<n;i++){
9: tmp=a[i] [i];
10: for (j=0;j<n;j++) |@ ;
11: ali]l [i]=1/tmp;
12: for(k=i+1;k<n;k++){
13: tmp=a[k] [i];
14: for(j=0;j<n;j++) |@
15: ® ;
16: }
17: }
18: for(i=0;i<n;i++){
19: @ ;
20: for(j=0;j<=1i;j++) ylil=y[il+alil [jI1*b[j]1;
21: }
22: for(i=n;i>=0;i--){
23: x[i]=y[i];
24: for(j=i+1;j<n;j++) |® ;
25: }
26: }
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